55 DY AR

1.

FEAESMRE A 1 /NSIE, HAEX (0<x<1) /A AERMERRZ0.5x, &
KOMLAE 45 73 B UOEZ L, ARG DG 1 /NI R 2 2 /02

2 B R8T, ok R X .
(1) HR—VOFNE R S T, KP(X =7).

(2) HREWEE X =7 HI, KIZFHREMMR. SEEZETHT?
(3) HREH, KX =7%T X =8 HIAIMZE.

BRBEE T a MBER, b ANARR. RRREUHE — AR, BRI ERNME L, 98 X Oyt 2
HEBERIA L, RP(X =k) (k=12,---) .

CU1 F (X) = P(X < X) SBEHUE R X (140 86 5
(D EW: lim F(x)=0, limF(x)=1.

(2) kKP(@< X <h).
25t 5 MAFIBENLAZ BB T,  JFE WAL A & 1 SRR A SR AR A 25 ).

L X BB EENLA R, . Var(X) = E(X%) — E2(X); Rrp 22231 7 2 2
5 F R SO 5502 175 14 2 10 B BE f.

VR 55— SIS 4, 5 L
4. BTN BRTPEKEN p, CHHEER g=1-p. 4

EEBHARR o BAIL, BN R MR, (a) RPFBABE. (L) & p

= 172,F(a) WER U R B HEHER, IEHFREOBES 12,

S. Bl b(k;n, p) BT R (:)#(1-1:)“‘*.&%&:&)% p<1/

(n+1), 002 o AN 6(k;n,p)IE8. (b)E p=1 - 1/(n+1), 00 & #in
B o(ksn, p)ERE. (OF1Aa+1)<p<1-1/An+1), W% £ #¥met,
b(kyn,p) it /ERE. REE b(kin,p)ERIBKH L.



